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Short Response (SR)

This year’s SR subtest comprised 16 items across nine units. As students worked through each unit, they
interacted with stimulus material that was chosen to be challenging and engaging. Test developers paid
careful attention to framing each item in a way that made it accessible to most students. The SR testpaper
comprised units with stimulus material selected from fields such as mathematics, science, history, the social
sciences and literature.

This year’s paper was varied in its content, covering a broad range of CCEs. The different tasks included
drawing and labelling a mud-map, calculating the value of a numerical expression, estimating area on a map,
measuring carefully and locating features on a diagram, providing clear explanations and giving evidence to
justify a point of view.

Model responses and commentaries on student performance

What follows is an item-by-item report that includes model responses and marking schemes, tables and
graphs of the distributions of grades, and commentaries that discuss the tasks. At times, references to
specific student responses are included to exemplify observations. As much as possible, model responses
are actual student responses. Model responses are those that demonstrate a high level of performance and
would have been awarded the highest grade.

For some items, especially the more open-ended items, responses were extremely varied. For these
responses it is not possible to provide examples of the many ways students responded. The detailed,
item-specific marking schemes indicate the scope of acceptable responses for different grades. Even for the
more closed items the marking schemes demonstrate that different ways of perceiving ‘the solution’ were
able to gain credit.

Marking schemes

The marking schemes used during the marking operation and included in this section of the Retrospective are
not designed to be read in isolation. They are only one element of the marking prescription. During the
marking operation markers undergo rigorous training in how to apply the marking schemes to student
responses of one marking unit. The training involves careful consideration and application of the material
presented by immersers.

All SR items are double marked. This means that a student’s response booklet is marked by at least 10
different, independent markers. Referee marking also occurs when necessary.

For organisational purposes during the marking operation, the testpaper units were grouped into five
marking units. In 2015, Marking Unit 1 contained testpaper units One and Five, Marking Unit 2 contained
testpaper units Two and Three, Marking Unit 4 contained testpaper units Four and Nine, Marking Unit 6
contained testpaper units Six and Seven and Marking Unit 8 contained testpaper unit Eight.

Each marking scheme provides descriptors for up to five creditable grades, as well as the non-contributory
grades N (where the response is unintelligible or does not satisfy the requirements of any other grade)
and O (where no response has been given).
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SR 2015 summary

Unit Item | Basket
One 1 o
Perspectives
2
Two B
K-maps
P 3 0
Three
Water diviner 4 o
Four
Mud-map > B
6 0
Five
Agatha
7 0
8
Six ¢
Engineer
9 p
10 o
Seven
Ant wall
11 B
12 o
g 13 T
Liar
14 0
15 [0)
Nine
Taking off
16 (0]

6
7
17
29
45

10
29
32
33
42
48
52

15
16
17
18
22
44
48

Common Curriculum Elements by unit

Interpreting the meaning of words ...
Empathising

Interpreting the meaning of ... diagrams ...
Comparing, contrasting

Classifying

Synthesising

Explaining to others
Analysing

Calculating with or without calculators
Visualising
Sketching/drawing

Interpreting the meaning of ... illustrations
Explaining to others

Interrelating ... ideas

Analysing

Synthesising
Creating/composing/devising

Visualising

Calculating with or without calculators

Applying strategies to trial and test ideas and procedures
Generalising from information
Creating/composing/devising

Justifying

Interpreting the meaning of ... maps ...
Translating from one form to another
Estimating numerical magnitude
Comparing, contrasting

Evaluating

Using vocabulary appropriate to a context

Compatring, contrasting

Deducing

Reaching a conclusion which is consistent with a given set of assumptions
Criticising

Justifying

Searching and locating ... information
Graphing
Calculating with or without calculators

Estimating numerical magnitude
Approximating a numerical value
Structuring ... a mathematical argument
Synthesising

Justifying

Note: CCEs specific to an item are listed on the item’s marking scheme.
The baskets into which CCEs are grouped are shown in Appendix 3.
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Unit One

The item in this unit is about how a partly-filled glass of water is described by a person and what that says
about their attitude to life.

The following table shows the percentage of responses awarded the various grades for the item in this unit.

A 8 | c | 0 | £ | N | 0
Cent BEIEEEE 28 03

A shaded box indicates that the grade was not available for that item.

Item 1

Commentary

100% Item 1 is a two-star item that tested achievement in CCEs 28 Empathising and
4 Interpreting the meaning of words.
The item required students to consider five words that can be used for people with
various perspectives on life. Next to each word are letters A—E. Students were
required to match each word to the best associated comment, regarding the glass

B C =—— of water, by writing the appropriate letter in the box provided.

The cue directed students to use each letter once only.
An A-grade response needed to show the five correct matches.

Students should remember to follow cues carefully. Some students used the first letter of the words provided
or used a letter more than once which impacted on their ability to achieve the highest grade. Particularly in
closed items such as this one, students are encouraged not to leave blanks.

Model response
A. OPTIMIST The glass is half empty. E
B. IDEALIST Break the glass. C
C. ANARCHIST The glass should be full. | B
D. PRAGMATIST The glass is half full. A
E. PESSIMIST The glass is too big. D
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Unit Two

The items in this unit are based on information about using diagrams to indicate the splitting of a given group
into sub-groups.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

e e e e [ a e
1.5 1.1

32.9 43.6 13.3 7.6

BN 2 o0 93w o7 24

A shaded box indicates that the grade was not available for that item.

Item 2

Commentary

100% Item 2 is a three-star item that tested achievement in CCEs 29 Comparing,
contrasting and 6 Interpreting the meaning of diagrams.
A diagrammatic method of representing a group of people with sub-groups based
on various attributes was presented. The example given considered whether
people were under 14 years of age or aged 14 years and over and whether or not

A B C D ——— they owned an iPod. The same group of people was further subdivided according

to whether they liked or did not like music and the diagram was adjusted to show
this.

The item comprised two parts. In the first part students were required to provide a succinct definition of the
people in the cell marked as x. In the second part, students had to compare the characteristics of the people
in the cells marked as y and z and say in what ways they differed and how they were similar.

A cue for the second part instructed students to give details.

An A-grade response needed to provide the three required attributes for part | and correctly explain the
shared attribute and the two different attributes for part Il. The six points needed to be correct and complete
with no incorrect or extraneous information included.

Students should remember that where the stimulus explains a new concept and gives examples/models to
aid in comprehension they should spend time interrogating the examples/models and any given information
to gain a full understanding before responding to the items.

Model response

I.  Define succinctly the people who are represented by the cell x.

Do not own an iPod, aged under 14, like music.

II.  According to the diagram how do the people represented by the cell y and the
cell z differ and how are they similar?

_ _ Group y members own an iPod and are aged under 14 while
G|Ve deta”s. ..........................................................................................

| Retrospective 2015 QCS Test
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Item 3

Commentary

100% Item 3 is a three-star item that tested achievement in CCEs 44 Synthesising and
30 Classifying.

The stimulus material provided a rectangular grid representing the whole numbers
from 1 to 99. Five sub-groups were specified in the legend and labelled on the
diagram. The stimulus explained that for each specified sub-group there was an
opposite sub-group that had to be inferred. For example the cells labelled ‘odd
numbers’ left other cells unlabelled and so by inference these contained even
numbers.

The item comprised four parts. An A-grade response needed to provide correct answers to all four parts.
Part | could not include incorrect surplus information and part lll could provide only one number.

Students should remember not to add non-required information. Examples particular to this item are: giving
incorrect surplus information for part | such as ‘half are odd numbers and half are even numbers’ when in fact
the distribution of odd and even numbers in the shaded cells is not half and half; providing all six possible
answers for part lll when the requirement was for an example of a number.

Model response
A
B
60
D
w
v
| C |
E E
I.  Complete the sentence below:
The numbers in the shaded cells can be defined as ......................................
less than 50, divisible by 3, does not contain 7
II.  Write the number 60 in the cell to which it belongs.
III. Give an example of a number that belongs in the cell v. ... 97 ..

IV. Determine the cell representing numbers in sub-groups A, D and E but not in sub-group
B or sub-group C. Identify the appropriate cell by writing w in it.

18 | Retrospective 2015 QCS Test
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Unit Three

The item in this unit is based on a poem titled 7Ae Divinerwhich describes a water diviner going about the
business of finding water without using any scientific apparatus.

The following table shows the percentage of responses awarded the various grades for the item in this unit.

e e e e [ a e
m 3.3 17.1 47 13.8 12.9 5.9

A shaded box indicates that the grade was not available for that item.

Item 4

Commentary

100% Item 4 is a three-star item that tested achievement in CCEs 43 Analysing and
26 Explaining to others.
The item required students to investigate the poet’s use of language to establish
the sense that the water diviner has mastery over his craft. Students were
required to cite a specific instance of this deliberate use of language from each

— . b v o stanza and make clear how this sense of mastery is established. At all creditable

grades the response needed to be consistent with a reasonable reading of the
poem.

An A-grade response needed to be consistent with a reasonable reading of the poem; cite three instances
(one from each stanza) and explain how the use of language in each instance clearly established the diviner’s
mastery over his craft.

The majority of responses cited three relevant instances of the deliberate selection of language. However
some did not provide a clear explanation of how the language establishes the diviner’s mastery.

Students should remember to unpack all aspects of the stem and ensure that they address each and every
aspect, e.g. citing a deliberate use of language and then making clear how this establishes the idea of
mastery over his craft.

20 | Retrospective 2015 QCS Test



Model response

In this poem the use of carefully selected language has built up the sense that the water diviner
has mastery over his craft.

From each stanza, cite a specific instance of this deliberate use of language and make clear
how they establish the sense that the water diviner has mastery over his craft.

In stanza one ‘nervous, but professionally’ says that, despite the pressure of being

Queensland Curriculum & Assessment Authority | 21
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Unit Four

The item in this unit is based on information about the highway between Meekatharra and Newman in
Western Australia.

The following table shows the percentage of responses awarded the various grades for the item in this unit.

LA 8 | ¢ | o | £ | N [ 0 |
Cens BRI 164 32

A shaded box indicates that the grade was not available for that item.

Item 5

Commentary

100% Item 5 is a three-star item that tested achievement in CCEs 50 Visualising,
60 Sketching/drawing and 16 Calculating with or without calculators.
The item comprised two parts. In part I, students were required to draw a simple
sketch or mud-map of a section of highway between the towns Meekatharra and
Newman. They needed to draw two side roads which meet this highway, label their

ISR \ o destinations and then indicate, with a cross, the location of a given sign. Part Il of

the item required students to complete a blank sign as it would appear to a person
turning onto the highway from the intersection that did not have the given sign
at it. The map did not need to be drawn to scale.

An A-grade response needed to provide a diagram which correctly showed the six pieces of data described in
the stimulus material and correctly complete the blank sign. All creditable grades required the representation
of the highway on the diagram to be oriented in a north-south direction.

Some responses indicated that locating east to show the side road that ‘comes in from the east’ caused some
difficulty. A good many students, incorrectly, placed a cross at both intersections. This was presumably a
result of misreading ‘this sign’s position’ as ‘signs’.

Students should be instructed to read the stem carefully and not to do more than what is required, e.g. only
one sign’s position was to be marked on the diagram not the positions of two signs as some responses
showed. Where more than one response or part of a response is provided and it is not clear which is to be
marked or which is the first response, credit cannot be given.
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Model response

I.  In the frame below, draw a mud-map (simple sketch) of the Great Northern Highway
between Meekatharra and Newman. The mud-map does not have to be drawn to scale.

On the mud-map, clearly mark:
* the positions of Meekatharra and Newman
* the two side roads, and the destinations to which they lead

* the position of the sign shown above. Use a cross (X) to indicate this sign’s position.

Use pencil 1
N

when working
on the map. Newman T

Peak Hill

Plutonic Airpor't

Meekatharra

L not to scalﬂ

II. The two T-intersections are 48 km apart. If you were intending to turn onto the Great
Northern Highway at the other T-intersection, you would see a sign, similar to the one
on the opposite page, when you looked across the highway.

Using the sign on the opposite page as a model (colour not required), complete the sign

below to show what this other sign looks like. Include the names of the towns and their
distances from this T-intersection.

< 1851 Meekatharra Newman 241)>

24 | Retrospective 2015 QCS Test



G0 ¥ yun Bunpep

*I1 31ed Supprew udysm uonisod 399..109 3y} ur )1 Suiaey se dsuodsda

31} J8AI) U ‘SPEO.I IPIS YJoq Je ST .10 payrwo si | y.aed ur ugis ayy jo uonisod oy Ju

syurod jop Sururewas 3y 10y s/uonisod 193.1103 dY) Ul WIY)

Suraey se asuodsal 3y) JBII) UIY) ‘PINILUW JOU AT UBWMIN] 10/PUE BAIBYIBYIIA JI

.

peas-g oy) 104

JIPAId ures ued duou ‘uonisod U0 ULY) AIOW U PIYIBW ST USIS 10 JWIEU € IIIYAY °

*KeMYSIY 9Y) U0 UBWIMIN MO[Iq UMOYS ST BLIBYIBYIIJA] JI A[JII.L10D PIMILUI dJ1€ UBWIMIN PUR BLIBYIEYI\ °

9
S
‘KemyS1y 9y) 5019 Jou op Inq AeMy31Yy dY) J99W JBY) SPLO.I Ie SPLOI IPIS °p
€
4

“UBUIMIN PUR BLIBYIBYIIJA] UIIM)II( $I03 AeMySIY oY) ‘AemySIy pa[[oqe[ & Jo duasqe oY) u *

YINOS-Y)a0u A[[ed1Iseq SUruun s i1 j1 APIILI0d PIJUILIO ST AeMy3Iy Y, °[

:S9JON

wy Aue je
Jpeuw udR(q sey
asuodsax oN

0]

*dpeas

J19yjo Aue 10§y
syudwdambax
ayy Ayspes
joU S0P 10
J[qI3IIUTUN
s1 asuodsay

*[[TH Y©dd P Iew SI PLOIIPISE o
jrodary d1uojnfg padIew s peoIdpIs € o
UAMOYS 1€ SPLOJ IPIS 0M) A[UO o

J0 ANO sop1aoad pue £[333.1.109 PIIUILIO
SI AeMyS1Y 9Y) YOIYM U0 WeaSeip e smoys
1 31ed a0y

asuodsax Ay,

“JYSLL 3Y) U0 [HT PUE O Y3 U0 8] o

3L oy
U0 UBWIMAIN PUR JJI] 9Y) U0 BLIBYIBYIIA o

SMOYS o1y uSis e sapraoad
11 31ed aoj

asuodsax ayJ,

Ho

*[ITH Y©3d paYIeu ST peo.d IpIs duo

J10dary d1UoIN|J PIdIEW SI PEo.I IPIS U0

usmoys
1€ SPEO.I JIYJ0 OU PUR SPBOI IPIS OM) o

pue £[399..109 PIJUILIO
SI AeMYSIY 9Y) YOIYM U0 WrISeIP ¥ SMOYS
1 3aed a0y

asuodsax ayJ,

°1 3aed ur weagerp ay) Yum
JUIPSISUOD UBWIMIN PUE B.LIBYILHII o

SMOYS YIIym ugis e sopiaoad
11 3aed a0y

anNv

wreaSerp ay) Jo 3sax

Y} YIM Jud)sisuod pauonisod st uSis 3y) «
PBO.I APIS JIY)0 JY) UBY) JIMO[
pauonisod s1 peoa aodary druoynig dyp

II'H Yedd payaew st pue Kemysiy

A1) JO J9] AY) UO UAMOYS SI PEO.I IPIS JUO
3a0dary d1uoinyd payew s pue Kemysy
A1) JO JYSLI 3Y) UO UMOYS ST PEO.I IPIS JUO
umoys

1€ SPEO.I 1Y) OU PUE SPLOI IPIS OM)

APo3a110d
PIYIBW JJE UBWAMIN PUB BLIBYILIIIA

JO AL sop1aoad pue £[3I3.1.109 pPIJUILIO
ST AeMYSIY 9Y) YOIYM U0 WeaSeIp e smoys
1 3aed Joy

asuodsai ay,

*JYS1A dY) UO [T PUE JI[ OY) U0 [G]

3oy
U0 UBWMIN PUE }J3] 9Y) UO BLIBYIBYIJA o

SMOYS YIIYAM uSIs e sapraoad
11 3aed oy

anv

A[393.1.103 pauonisod s ugis Y
PeO. IPIS J3Y)0 IY) ULY) JIMO[
pauonisod s1 peoa yrodary druonid ay)

II'H Yedd payaew st pue Aemysiy

) JO 3J9] AY) UO UAMOYS SI PEO.I IPIS JUO
3a0dary d1uoinyg padyaew s pue Aemysy
Y3 J0 JYSLI 9Y) UO UAMOYS SI PBOI IPIS U0

.

.

usmoys
1€ SPEO. Y0 OU PUE SPLOL IPIS OM)

.

APad.110d
POYIBU AIE UBWIMIN PUE BLIBY)EYIIA

.

pue A[399.1.109 PIJUILIO
SI AeMYSIY 9Y) YOIYM U0 WweaSeip e smoys
1 31ed oy

asuodsax ayJ,

N

a

25

Queensland Curriculum & Assessment Authority

SI0)B[NI[EI JNOYIIM J0 [JIM Sunende) 9jf Surmeap/3urydons (9 guisiensiA S | NIVINOd ADNVINIOAYAd

G N1l dNo4 1INN

awayog bupep




Gjoz ¥ yun Bunpep

A L2 UEBUWMIN

eaJBY1EN29N L@GL vv
I

awayog bupep

Emem 01 30U

BBy 1Ro9N

quoduy oluogn|g

I'H ead

ueLmaN

|
i

T

:3asuodsay [PPOIN

S N3LI dNO4 1INN

Retrospective 2015 QCS Test

26



Unit Five

The items of this unit are based on two pages from a comic book version of a novel set in Paris in 1928.
The following table shows the percentage of responses awarded the various grades for the items in this unit.

N - A T - B
8.8 1.5 1.7

28.8 28.1 22.7 8.4

21.8 24.8 41 5.4 1.5 5.5

A shaded box indicates that the grade was not available for that item.

Item 6

Commentary

100% Item 6 is a four-star item that tested achievement in CCEs 43 Analysing,
31 Interrelating ideas, 5 Interpreting the meaning of illustrations and
26 Explaining to others.

The item required students to describe the atmosphere created across the two
pages of the comic book and discuss how this atmosphere was developed and
conveyed.

The cue instructed students to refer to features such as characters, setting and
lighting.
An A-grade response needed to identify an atmosphere, explain how two observable features within the
panels conveyed this atmosphere and to reveal how a feature in the final panel contributed to the
atmosphere.

Some responses merely explained the progress of the story across the panels instead of explaining how the
atmosphere is conveyed. This was not what the stem required.

Students should remember to consider all the stimulus provided and to give clear and detailed explanations.
An error sometimes made is that only cursory links or references are provided which do not give enough
information and depend on the reader to infer meaning. Identifying specific details of features (e.g. dim,
yellow lighting) rather than just the feature itself (lighting) can help with a detailed explanation.
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Model response

Describe the atmosphere created across pages 1 and 2. Discuss how it has been developed and
conveyed.

There is a tangible sense of fear and foreboding across the comic panels.
Refer to features .....................................................................................

such as characters, . . . . e . .
setting and lighting. ~ The night time setting, derelict buildings, shadowy figures and dim lighting

Retrospective 2015 QCS Test
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Item 7

Commentary

100% Item 7 is a three-star item that tested achievement in CCEs 44 Synthesising,
50 Visualising and 46 Creating, composing, devising.

The item required students to imagine and then to explain what they would draw
in the newly created panel 7 of the comic book.

Students were told the new panel had to be in keeping with the panels already
A B C D n o  presented and progress the story without introducing new characters. They had to
explain what they would draw and why, with respect to consistency of style, what
the established characters are doing and where they are.

An A-grade response needed to give a detailed description of what is to be drawn that is supported by an
explanation. The explanation and description of the new single panel had to progress the story logically,
introduce no new characters, use a setting that connected to the previous panels, account for both characters
and consider how lighting is to be used. The response had to be consistent with the existing panels.

Some responses did not provide enough explanation or detail for the description of the drawing to be
envisaged or understood. Responses that did not say how lighting was to be used in the new panel did not
account for consistency of style (panels 1-6 each used yellow lighting) and so did not fully attend to the task.

Students should remember to follow all instructions in the stem carefully and use available planning space to
help formulate their response.

Model response

Page 2 of the comic book is to be altered to contain two panels, positioned as shown on the
opposite page. Imagine what you could draw in the newly created panel 7. It must be in
keeping with the panels already presented and progress the story. No new characters are to be
introduced.

Explain what you would draw in panel 7 and why, with respect to consistency of style, what
the established characters are doing and where they are.
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Unit Six

The items in this unit are based on an adapted copy of an advertisement used by a recruitment office. The
advertisement was for the recruitment of engineers.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

e e e e e e

20.3 3 58.7 16 1.9

m 25.2 52.7 9.6 4.9 7.7

A shaded box indicates that the grade was not available for that item.

Item 8

Commentary

100% Item 8 is a three-star item that tested achievement in CCEs 16 Calculating with or
without calculators, 36 Applying strategies to trial and test ideas and procedures
and 46 Creating/composing/devising.
The item comprised two parts. Part | of the item required students to calculate the
first four terms of the expression given in the advertisement, resulting in the

A \ o six-digit telephone number of the recruitment office.

Part Il of the item required students to follow a set of guidelines to create a
three-term expression that used whole numbers and had a value of 209871.

The cue instructed students not to use zero or one as either of the numbers.

An A-grade response needed to show the number 132901 for part | and provide an expression that correctly
attended to each of the four guidelines for part Il. There were a limited number of solutions to part Il. These
were based on the five factors of 52 (excluding 1). Their squares were the only numbers that could be
correctly used beneath the square root sign. The use of addition (+) or subtraction (=) in the triangle
determined the numbers able to be used in the rectangles.

Some responses to part | showed that there were errors with the calculation of the powers 213 and 143. Some
responses could not gain credit for part Il as incorrect expressions were formed because the concept of order
of operations was not applied correctly.

Students should revise basic mathematical concepts such as order of operations and know when to apply the
concepts. In preparation for the test, students should practice using the approved calculator they will use in
the test. For example, knowing how to make use of the necessary functions (such as the power function in
this particular item) on their calculator is essential.
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The six-digit telephone number of the recruitment office results from calculating the value of
the first four terms of the expression:

%+ 213, 143+1005

Note that 9! =9 x8x7x6x5x4x3x2x1

I.

I1.

Calculate the value of the expression and complete the sentence below.

The six-digit telephone number for the recruitment office is 152901

Follow the guidelines given and, in the response area below, create a three-term
expression that uses whole numbers and has the value 209871.

Guidelines:
* the value of the expression is to be 209871

* the positions of the number ‘52°, the division sign ( + ) and the square root
sign (+/ ) cannot be changed

* use one of either an addition sign ( + ) or a subtraction sign ( — ) in the position shown
by the triangle

 determine appropriate whole numbers (other than 0 (zero) or 1 (one)) for the positions
shown by the two rectangles.

Working space.

Do not use O or 1
as either of the
numbers.

209664 —52+\/16 =209871
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Item 9

Commentary

100% Item 9 is a two-star item that tested achievement in CCEs 38 Generalising from
information and 48 Justifying.

The item required students to suggest two qualities in applicants that the
recruitment office appeared to be targeting with the advertisement. The two
qualities had to be completely different. For each quality, the students were asked
to explain the relationship between the quality and the advertisement.

An A-grade response needed to show two clearly different qualities and then
convincingly explain the relationship of each quality to the advertisement. Two
common qualities that were cited included ‘mathematical ability’ and ‘perseverance’.

Some responses had the same quality used twice and merely expressed in different ways. Only one of the
qualities could gain credit as the stem explicitly stated that they had to be completely different. Responses
that used job titles instead of qualities, e.g. engineer or mathematician could also gain no credit.

Students need to pay careful attention to the explicit directions given in the stems of items and ensure they
are responding as directed.

Model response

With their use of the advertisement shown on the opposite page, the recruitment office appears
to be targeting applicants with certain qualities.

Suggest two of these qualities. The two qualities must be completely different. For each
quality, explain the relationship between the quality and the advertisement.

Relationship to advertisement: .7} Fer=200 NOLIG TeCa Qe pierarca Wopei=seveieas Moy ..

worked through all the calculations in the advertisement.
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Unit Seven

The items in this unit are based on a map showing the position of the Antonine Wall as well as diagrams and
information about the Antonine Wall.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 10 18.4 16.9 22.7 28.7

Item 11 5.6 21.3 21 24.4 11.6 11.4 4.7

A shaded box indicates that the grade was not available for that item.

Item 10

Commentary

100% Item 10 is a three-star item that tested achievement in CCEs 6 Interpreting the
meaning of maps and 17 Estimating numerical magnitude.

The item required students to use Figure 1 (a map) to help estimate the area of the
mainland between Hadrian’s Wall and the Antonine Wall. They were instructed to
clearly indicate the method they used.

A B C D n o The cues instructed students to show all steps, use pencil if working on Figure 1
and to round their estimate to the nearest 100 km?.

An A-grade response needed to involve only the relevant area, i.e. the area

between the two walls on the mainland, indicate that an appropriate strategy was
used, explicitly apply the scale correctly and give an estimate of the area between 22400 and 24000
rounded to the nearest 100 km2. No incorrect working could be used to obtain the area. Units did not need to
be shown, but for the A-grade, if units were shown, they had to be the correct units.

Responses indicated that the two most commonly used strategies were using an overlay of rectangles to fit
the required area and then finding the area of the rectangles and summing the existing whole squares and
the number of ‘whole’ squares formed by combining fractions of squares. Some responses showed incorrect
use of the scale, using the linear scale factor of 20 rather than the area scale factor of 400 per square.

Students should check the reasonableness of their answers. A revision of scale factors especially as applied
to areas and volumes would benefit students preparing for the test.
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Model response

” TR
/\4\/ S
§ Antonine Wall f .
7 o LT
s
m(&\ %....—\r“’ s | 7 |8 /9: 10 [N
/)@%1254511121314
AN [
M %\ \315 16 |17 |18 |19 |20 | 21 | 22
/
5 : f24 25 | 26 | 27 | 28 | 29 | 30 | 31
4

35 |36 | 37 | 38 | 39 |40 | 41 | 42

45 | 46 | 47 | 48 ife 50 | 51 52_?,.5..
N ¢ 4.!"

N 56 5& 55, 594~ ' Hadrian’s|Wall AK

L]

amuEl
AF i,

60 8

Kilometres

‘O
N
5
o
.
¢
(Tl

Figure 1: Hadrian’s Wall and the Antonine Wall

Use Figure 1 to help estimate the area of mainland enclosed between Hadrian’s Wall and the
Antonine Wall. Clearly indicate your method. Consider Figure 1 as part of the response area.

ShOW all StepS. .................................................................................

Use pencil if working
on Figure 1 .................................................................................

Roundyourestimateto  Apgj j5 59 squares x 400 = 23 600 km?
the nearest 100 km R R R
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Item 11

Commentary

100% Item 11 is a four-star item that tested achievement in CCEs 29 Comparing,
contrasting, 7 Translating from one form to another and 45 Judging.

This item comprised two parts. Part | required students to annotate a cross-
sectional diagram of the Antonine Wall with the five features and five
measurements printed in bold in the given description of the wall and its
A8 (b e o defences. Partllof the item required students to label a reproduction of the
diagram with two positions, A and B. The positions had to be ones that the
Romans may have contemplated for a field of lilia. Position A was to be the better of the two. Students had to
compare the two positions and explain why position A would be a better placement than position B.

An A-grade response needed to show the ten notations correctly marked on the diagram, have positions A
and B marked on the north side of the wall within the diagram and for each position establish a valid reason
why it would assist in the defence of the wall. The response also had to provide a comparison to show
position A is better than position B.

Some responses to part | showed that the nature of a cross-section had not been understood correctly (the
width of the cross-section was interpreted as the length of the wall). Other responses indicated carelessness
in terms of making sure all ten of the annotations were accounted for. Some responses in part Il did not give a
valid reason why each position would have been considered for the placement of a field of lilia or did not
provide a comparison between the two positions.

Students need to remember that, when annotating a diagram with information provided in text, a systematic
approach would reduce the likelihood of omitting relevant information. When asked to compare two
positions, students need to be able to identify significant features of each and to identify similarities and
differences, or strengths and weaknesses. They could then use these to make a statement as to why one
position is preferred.
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Model response

I.  Indicate on Figure 2 where the features shown in bold in the description above are
located. Also mark in the measurements. Use arrows if necessary to show the
positions and measurements accurately.

<«— fence
northern side of wall
outer mound 6m
\4 3m
. 12m R
«—— > foundation
4.3 m
defensive ditch
not to scale

II. The Romans would position a field of lilia so that its deterrent effect would be
maximised. Consider two potential positions for a field of lilia that the Romans may
have contemplated.

On the Antonine Wall diagram (reproduced below), label as A the position you consider
to be the better of the two. Label the other position as B. By comparing the two positions
explain why position A would be a better placement for a field of lilia than position B.

not to scale

The best location for the lilia would be position A. The attackers would be within range of
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Unit Eight

The items in this unit are based on an extract from a film script about a defence lawyer’s representation of his
client.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

Item 12 12.9 11.5 20.9 19.8 31.5
Item 13 6.6 8.3 20.8 27.3 19.4 11.3 6.4
Item 14 12.8 27.6 26.4 12.2 7.2 5.8 8

A shaded box indicates that the grade was not available for that item.

Item 12

Commentary

100% Item 12 is a three-star item that tested achievement in CCEs 52 Searching and
locating information and 32 Deducing.

The item required students to outline the particular points the prosecuting lawyer
would have put forward in the ‘open-and-shut’ case against the defence lawyer’s
client.

A B C D n o The cuedirected students to respond in point form.

An A-grade response needed to provide a strong case for the four aspects of the
prosecutor’s case: serious assault, theft of the money, theft of the wallet and unlawful possession of the car.
No incorrect information could be included.

Some responses provided a weaker case by using descriptions such as ‘he hurt the victim’ rather than
indicating the seriousness of the assault or by being less than definite about the defendant’s clear intention
to steal the wallet or money by describing it as ‘he picked up the money’. These types of responses did not
attend to the part of the stem that said the prosecutor presented an ‘open-and-shut’ case, i.e. one in which
there would be little doubt about the outcome.

Students should remember that careful reading of the stem is always a requirement if the best response is to
be made. A cue to use point form indicates that the response does not need to be in sentences and should
include the pertinent points in a very direct form.

Model response

Outline the particular points the prosecuting lawyer would have put forward in the ‘open-
and-shut case’ against Fletcher’s client.

» the man’s arm and collar bone was shattered
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Item 13

Commentary

100% Item 13 is a three-star item that tested achievement in CCEs 10 Using vocabulary
appropriate to a context and 48 Justifying.

The item required students to give an appropriate adjective to describe each of
four different characteristics that Fletcher attributes to his client in the extract and
to provide evidence to justify their choice of adjectives.

A 8 ¢ bp e N o Thecueinstructed students to avoid using adjectives from the extract, or made
from words given in the extract. ‘Avoid’ means to keep away from.

An A-grade response needed to provide four acceptable adjectives none of which was derived from words in
the extract and to provide pertinent evidence for each adjective.

Some responses gave nouns, verbs or adverbs instead of providing adjectives. These responses did not meet
arequirement in the stem and so could not be considered for a creditable grade. Responses that gave
adjectives which described negative characteristics of Fletcher’s client did not consider the fact that Fletcher
would have been trying to ‘talk-up’ the innocence of his client and so would only attribute positive

characteristics to him.

Students should remember to attend to all parts of the stem and to follow instructions in the cues.

Model response

Give an appropriate adjective to describe each of four different characteristics that Fletcher
attributes to his client in the extract. Provide evidence to justify your choice of adjectives.

Avoid using adjectives already
in the extract, or made from
words in the extract.

My client is ... (adjective)

Evidence from the extract (use words and line numbers)

e innocent

‘true victim is my client’ (6)

o vulnerable

‘walking home from church alone,
in a frightening part of the suburbs’ (86-9)

e honourable

‘do what any respectable citizen would do’ (15)

e caring

‘your heart goes out to him’ (20-21)
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Item 14

Commentary

100% Item 14 is a four-star item that tested achievement in CCEs 42 Criticising,
33 Reaching a conclusion which is consistent with a given set of assumptions and
29 Comparing and contrasting.

The item required students to use information from the stimulus (a description of
a court scene) as well as the additional information supplied to provide an
effective argument about how well Fletcher conformed to three pieces of advice on
ethics for defence lawyers.

The cue directed students to present their analysis effectively and logically and refer to the extract and the
next scene.

An A-grade response needed to argue whether the pieces of advice were followed or not. The arguments
presented had to be clear and unambiguous. An A-grade response also contained no inconsistencies.

Responses that gained creditable grades provided arguments that were well supported by details from the
stimulus material. A range of arguments was acceptable: some responses stated that Fletcher conformed to
all three pieces of advice; some claimed he did not; some argued that he conformed to some and not to
others. While others stated an ambivalent view on the degree to which the lawyer conformed. If the
arguments were presented logically and were not ambiguous all could be considered for the higher grades.

Some responses depended on a reader being able to guess at what the basis of the argument was and these
responses could only be considered for a lower grade and then only if links were made to information from
the extract and next scene.

Students should remember to give enough detail so the response is able to be understood without a reader
having to refer to the stimulus material.
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Model response

The outcome of the court scene is that Fletcher wins the case. The next scene in the movie
shows Fletcher’s client offering to return the suit that Fletcher had lent him for his court
appearance. Fletcher tells his client to keep the suit as he will no doubt be needing it again.

Read the following pieces of advice on ethics for defence lawyers.
1. Never knowingly lie to the court.
2. Put your client’s case forward as well as you can.

3. If you win the case and you then discover your client did commit the crime, never
represent that person again.

Judging from the extract and the information supplied about the next scene, how well does
Fletcher’s behaviour conform to the three pieces of advice on ethics for defence lawyers?

Present your .........................................................................................
analysis

effectively and  of the incident. Fletcher does not deny that his client was involved in the
bogically, | T L S S L L R S s

Refer to the incidents. When he suggests to the court that his client jumped into the
oxractandthe 1o e S R S R T AR
next scene.
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Unit Nine

The items in this unit are based on information about take-off distances of planes and the factors that can
affect them.

The following table shows the percentage of responses awarded the various grades for the items in this unit.

ca e e e e e [ 8]
Item 15 13.4 4.3 9.7 14 36.5 22
4.7 13.7 211 14 5.5 16.2 24.6

A shaded box indicates that the grade was not available for that item.

Item 15

Commentary

100% Item 15 is a three-star item that tested achievement in CCEs 18 Approximating a
numerical value, 15 Graphing and 16 Calculating with or without calculators.

The item required students to calculate an adjusted standard distance for take-off.
This included finding a ratio, plotting the ratio onto the graph and determining the
percentage adjustment required.

A B C D n o The cueinstructed students to show all steps.

An A-grade response needed to show: correct wind speed to take-off speed ratio;
correct use of the graph to read the percentage adjustment and use of the percentage to correctly adjust the
standard take-off distance. All steps in the process had to be consistent with each other.

Some responses used a ratio that was the reciprocal of the correct ratio. The first mentioned part of a ratio is
always the numerator when a ratio is written as a fraction. Some responses showed a poor estimate of the
percentage adjustment read from the graph. This was the result of inaccurate plotting in most cases.

Students should remember that the cue ‘show all steps’ indicates that detail is required about how numbers,
different from those given in the stimulus material appear in the solution. To this end all operations should
be shown, not just the result of an operation. A sharp pencil and a ruler should be used when working on
graphs to allow accurate drawing and reading from the graph.

| Retrospective 2015 QCS Test



Model response

percentage increase
of distance

/

ratio
0.2 0.1 0 0.1 0.2 wind speed : take-off speed
headyind tailwind
10
17

A

percentage decrease
of distance

ITEM 15 [ #%%]

A plane whose standard take-off speed is 150 km/h will be taking off into a headwind
of 13 km/h.

Calculate the distance required by this plane if, when there is no wind, it needs to cover
1600 m on a runway before taking off. Show all relevant markings on the graph.

13
Ratio of wind velocity to take-off speed = 150 =0.0867

Show all steps_ .........................................................................................
Use pencil From graph this means percentage decrease in take-off distance is 17%.

when marking .........................................................................................
the graph.
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Item 16

Commentary

100% Item 16 is a four-star item that tested achievement in CCEs 17 Estimating
numerical magnitude, 48 Justifying, 44 Synthesising, 16 Calculating with or
without calculators and 22 Structuring a mathematical argument.

The item comprised two parts. Part | required students to use the given method to
demonstrate that the plane described would be unable to take off at the
Mt Hotham airfield.

The cues instructed students to show all steps and to justify fully.

In part ll, students were required to determine the temperature that must be reached for the plane from part |
to just be able to take off from Mt Hotham airfield.

The cues instructed students to show all steps, give a clear explanation of their reasoning and to give the
temperature to one decimal place.

An A-grade response, for part |, needed to provide correct mathematical justification to confirm that the plane
would not be allowed to take off. A statement indicating the comparison the result was based on was
required. For part Il, the response needed to show a fully justified method used correctly to obtain the
temperature which needed to be reached for the plane to just take off. The temperature had to be given to one
decimal place.

For part | the most common comparisons used were the take-off distance compared to the runway length and
the percentage of the runway required compared to the percentage permitted.

For part I, an error that occurred occasionally was that a temperature that had the correct numbers was given
as a positive not a negative temperature as required.

Students should remember that a fully justified mathematical response requires written conclusions
supported by correct mathematical calculations. They should attend to any cue given, so for this particular
item, the final temperature should have been given correct to one decimal place. Trial and error methods
showing details of the trials considered are acceptable but it should be noted that they can sometimes be
very time consuming and may be unable to give an answer to the required degree of accuracy.

| Retrospective 2015 QCS Test



Model response

I.  The Mt Hotham airfield is 1298 m above sea level and its runway is 1460 m long. For a
plane to be permitted to take off from an airfield the take-off distance must not exceed
85% of the length of the runway. At sea level a particular plane’s standard take-off
distance is 910 m.

Clearly demonstrate that this plane would not be permitted to take off using the runway
at Mt Hotham airfield. Assume there is no wind and the temperature is 0 °C.

Altitude adjustment for 1298 m above sea level
Show all Steps. - - v s S

. 12986
Justify fully. = 300 x10%=43.3%increase to the standard take-off distance

II.  Assume that at Mt Hotham airfield there is no wind and the temperature is 0 °C.
Find the temperature that would have to be reached so the plane from part I would
just be permitted to take off using the runway at Mt Hotham airfield.

The plane’s take-off distance of 1304.03 m must be reduced to 1241 m
ShOW a” StepS. ........................................................................................

Give a clear so the temperature must be reduced such that 1% decrease comes
explanatlon of ........................................................................................

your reasoning.

GIVE TRE e
temperature to (1304.03 - 1241)

one decimal Percentage decrease required = 1304.03 x 100%
Dhaa. O RS SRS ORISR
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